Question for written answer E-001375/2011

to the Commission

Rule 117

Nick Griffin (NI)

Subject: Climate change

In the UK, this winter was the coldest winter since 1890.

1. How does the Commission reconcile yet another cold winter with ‘global warming’?

2.  How many organisations does the EU finance, directly or via its subsidiaries, in whole or in part,
that support the concept of global warming and what is the total cost of that finance?

3. How many does the EU finance that question the Commission's view in respect of ‘global
warming’ and what is the total cost of that finance?
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